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WV o b exc\uive
J ov
se 18 Suppose we are looking at a group of humans that 1reS91thPr§| ight or left handed and with
‘w: reen or blue hair. Iq&é
are l]ght handed ‘rhen which ot the following are true?

of blue-haired individu ﬂ:)_g;e_g,gh_‘r_hmled and \¥8%_of green-haireq people
bl Wh
information? g

alse? Which can’t be decided with the given
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1{.,11‘( handers|in this groupllis/exactly

/ B3R Cow L o cl_gqmlw(
O The overall proportion of right handers in this group is between 88 and 78 percent
3) If

(3) If the ratio of blue-haired humans to green-haired humans is 1 to 1 then the overall proportion of right
handers in this group is exactly 83%
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Exercise 23 Suppose | have a deck of cards where O Lo
—D N
» 15% are red on both sides ’P( Ted e“ms’)&&j 6.\S

fe,A o OV S\éQ
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3 |+ 20% are black on both sides 'PL \0\0&'\‘- on bb(\'\ Q)= o. A

(( edalop, \o\w;\e. &

vedar Ylackon
Pliter, W)

e 65% are red on one side and black on the other

T'vd 1 7 1 the deck and the top card is red on top. What is the probability that the other side of

the top card is black?
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Exercise 22 Suppose that we are dealt two cards from a standard deck of 52 cards. What is the

probability
that the second card is a diamond knowing that the first one is red?
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Exercise 24 Suppose thz@two iudepf-ndent iu‘rernf@cmnpanies supply internet to your neighbourhood. To
saénume_\' th@)nl_v supply illt@(?t sometimes. Thefirst company supplies internet with probability 0.2 and
theSecond with probability 0.7. »oth companies supply internet then thewhole neighbourhood has internet

—
with pr(‘)hahi]i@' 1. only one company supplies internet then the whole neighbourhood has internet with

probability 0. none supply internet, then there is no internet.
(1) What is the probability of both companies supplying internet? P(p‘ (\%)
<
(2) What is the probability of exactly one company supplying internet? QQ‘){ [\VQ% A Q(Pi N &)
(3) What is the probability of no company supplying jinterpgt? F N @\) <~
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Exercise 26 Suppose you roll a fair six sided dice until you roll a number that’s already been rolled.

(1) Let@to be the probability that you rolled exactly i times before succeeding. Calculate p; for the numbers
) E——E

1

until 10.

(2) Without any calculations find p; 4+ pa + - - - + p1p and explain why you found that solution.
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Exercise 30 You and your nine friends are playing truth or dare! In order to decide who starts you decide
to take 10 strips of paper of equal length and cut one of them shorter. The first person to pick the shorter
one gets to start. Is this a fair way of choosing who begins? (In other words, does everyone have the same
probability of choosing the short strip of paper?)




